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What do these numbers show?

E 2
|

thirty-three

i 4

thirty-one

|
2 6
-
L J
5 - thirty-two
U

CLASSROON =27
RE LS e R s
© Classroom Secrets Limited 2018



What do these numbers show?

il 2 33

3 23
i thinyaree ‘II}”|
[H\ll\l\\l 431

thirty-one

32
- 6 7
5 | | | - thirty-fwo
33 viie 32 32
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True or false? This representation shows 6 tens and 4 ones. r

False. This representation shows 6 tens
and 8 ones.
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Varied Fluency 3

Count the tens and ones from the broken bead string.

What number did it show?




Varied Fluency 3

Count the tens and ones from the broken bead string.

What number did it show?

10+10+10+10+8 =48
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Varied Fluency 4

Which representation shows 39?

A. B
I TSNS T N Cd - 7 x = 4“
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Varied Fluency 4

Which representation shows 397

0 e
|0
A. B.. Emeanl

, @t 3 tens and
9 ones
make 39
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Reasoning 2

Trevor says, E

! p
| have made the number 39
using Numicon.

Is Trevor correct?

%
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Reasoning 2

Trevor says,

L

Ly

~N

| have made the number 39
using Numicon.

'% 5.

L

A 4

Is Trevor correct?
Trevor is correct because...
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Reasoning 2

Trevor says, i

! D

A | have made the number 39
OO

using Numicon.

{ s/l

Is Trevor correct?
q Trevor is correct because three tens and nine ones equals 39.
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